- AEEm
AFYIORTZ o v—RIL K

ATV IARILN, SZRA7 - BEMEK
EH 22110.

EmiA

BICEXOBLARMNOBMNICELET,
NEOLTY IR RILK,
ZIVMOBTRIREFTHI2OTELICRUAHET,

e 3
K FEXIBERUAAEDS, /TEESE
« AFA4—),. TmHo = FTAARBEE> THOHFETET,
« A7V LA 1.4305 ( SUS3034 ) FTAARRY A T — (EH22120.) 22T
FEOMAEEEZEADENTEEXT,
avso- e \
« AFYL A 1.4305 ( SUS30348% ) LR
A=)l REBFOYIE /7 25Z2HL T30°E
/7 tER—)LkEnET,
- PAG, 2 (2XEL)
Ex51E5H
eSS
P ERT A BE
ZTOMOER
s FARRVA NZ— AVFYIVARILB
H
+3ER
; ::::> _<:::i:::> )
o ) SR
o~ | ¢ i E:
| E | B
~N d d
L ! . ~mE |
[T d2 H
d,
=1 2
HiE1ER
T = RESR § ]
d, d, d; d, l4 I, I3 Fq F, min. max.
h9 min. # #
[mm] [mm] [N] [°C] [a]
H—JL Rigiga L - E 1, 5
4 M 8 21 15 27,5 5 6 10 4 12 -30 80 14 22110.0602
4 M 8x1 21 15 27,5 5 6 10 4 12 -30 80 14 22110.0604
5 M10 25 18 34,0 6 8 12 6 16 -30 80 25 22110.0606
5 M10 x 1 25 18 34,0 6 8 12 6 16 -30 80 24 22110.0608
6 M10 25 18 34,0 6 8 12 6 16 -30 80 25 22110.0610
6 M10 x 1 25 18 34,0 6 8 12 6 16 -30 80 25 22110.0612
6 M12 28 20 40,5 7 10 14 10 23 -30 80 40 22110.0614
6 M12 x 1,5 28 20 40,5 7 10 14 10 23 -30 80 40 22110.0616
7 M12 28 20 40,5 7 10 14 10 23 -30 80 41 22110.0618
7 M12x 1,5 28 20 40,5 7 10 14 10 23 -30 80 40 22110.0620
Y et

B1/453
EEHALDER hiX: 13.10.2023


http://halder.com/jp/22110.0602
http://halder.com/jp/22110.0604
http://halder.com/jp/22110.0606
http://halder.com/jp/22110.0608
http://halder.com/jp/22110.0610
http://halder.com/jp/22110.0612
http://halder.com/jp/22110.0614
http://halder.com/jp/22110.0616
http://halder.com/jp/22110.0618
http://halder.com/jp/22110.0620

v ARk m
ATV IORTZ Ty —/ Rk

& ZEE NzH" s [ B(RES
d4 d, d; d, l4 I I3 Fq F, min. max.
h9 min. # #
[mm] [mm] [N] [°C] [a]
8 M16 33 23 47,5 10 12 17 11 35 -30 80 66 22110.0622
8 M16 x 1,5 33 23 47,5 10 12 17 11 35 -30 80 67 22110.0624
10 M16 33 23 47,5 10 12 17 11 35 -30 80 68 22110.0626
10 M16 x 1,5 33 23 47,5 10 12 17 11 35 -30 80 69 22110.0628
F—)L RgEM - 2, 8
4 M8 21 15 27,5 5 6 10 4 12 -30 80 14 22110.0630
4 M 8x1 21 15 27,5 5 6 10 4 12 -30 80 13 22110.0632
5 M10 25 18 34,0 6 8 12 6 16 -30 80 23 22110.0634
5 M10 x 1 25 18 34,0 6 8 12 6 16 -30 80 23 22110.0636
6 M10 25 18 34,0 6 8 12 6 16 -30 80 24 22110.0638
6 M10 x 1 25 18 34,0 6 8 12 6 16 -30 80 25 22110.0640
6 M12 28 20 40,5 7 10 14 10 23 -30 80 38 22110.0642
6 M12x1,5 28 20 40,5 7 10 14 10 23 -30 80 39 22110.0644
7 M12 28 20 40,5 7 10 14 10 23 -30 80 39 22110.0646
7 M12x 1,5 28 20 40,5 7 10 14 10 23 -30 80 39 22110.0648
8 M16 33 23 47,5 10 12 17 11 35 -30 80 64 22110.0650
8 M16 x 1,5 33 23 47,5 10 12 17 11 35 -30 80 65 22110.0652
10 M16 33 23 47,5 10 12 17 11 35 -30 80 66 22110.0654
10 M16 x 1,5 33 23 47,5 10 12 17 11 35 -30 80 67 22110.0656
Rl REBBEL -1, ATV LA
4 M8 21 15 27,5 5 6 10 4 12 -30 80 14 22110.0702
4 M 8x1 21 15 27,5 5 6 10 4 12 -30 80 14 22110.0704
5 M10 25 18 34,0 6 8 12 6 16 -30 80 25 22110.0706
5 M10 x 1 25 18 34,0 6 8 12 6 16 -30 80 24 22110.0708
6 M10 25 18 34,0 6 8 12 6 16 -30 80 25 22110.0710
6 M10 x 1 25 18 34,0 6 8 12 6 16 -30 80 25 22110.0712
6 M12 28 20 40,5 7 10 14 10 23 -30 80 40 22110.0714
6 M12x1,5 28 20 40,5 7 10 14 10 23 -30 80 40 22110.0716
7 M12 28 20 40,5 7 10 14 10 23 -30 80 41 22110.0718
7 M12x1,5 28 20 40,5 7 10 14 10 23 -30 80 40 22110.0720
8 M16 33 23 47,5 10 12 17 11 35 -30 80 66 22110.0722
8 M16 x 1,5 33 23 47,5 10 12 17 11 35 -30 80 67 22110.0724
10 M16 33 23 47,5 10 12 17 11 35 -30 80 68 22110.0726
10 M16 x 1,5 33 23 47,5 10 12 17 11 35 -30 80 69 22110.0728
K=l R - R 2, A7V L A8
4 M8 21 15 27,5 5 6 10 4 12 -30 80 14 22110.0730
4 M 8x1 21 15 27,5 5 6 10 4 12 -30 80 13 22110.0732
5 M10 25 18 34,0 6 8 12 6 16 -30 80 23 22110.0734
5 M10 x 1 25 18 34,0 6 8 12 6 16 -30 80 23 22110.0736
6 M10 25 18 34,0 6 8 12 6 16 -30 80 24 22110.0738
6 M10 x 1 25 18 34,0 6 8 12 6 16 -30 80 25 22110.0740
6 M12 28 20 40,5 7 10 14 10 23 -30 80 38 22110.0742
6 M12x 1,5 28 20 40,5 7 10 14 10 23 -30 80 39 22110.0744
7 M12 28 20 40,5 7 10 14 10 23 -30 80 39 22110.0746
7 M12x1,5 28 20 40,5 7 10 14 10 23 -30 80 39 22110.0748
8 M16 33 23 47,5 10 12 17 11 35 -30 80 64 22110.0750
8 M16 x 1,5 33 23 47,5 10 12 17 11 35 -30 80 65 22110.0752
10 M16 33 23 47,5 10 12 17 11 35 -30 80 66 22110.0754
10 M16 x 1,5 33 23 47,5 10 12 17 11 35 -30 80 67 22110.0756
D geEt ey PIME

H2/53
EEHALDER hiX: 13.10.2023


http://halder.com/jp/22110.0622
http://halder.com/jp/22110.0624
http://halder.com/jp/22110.0626
http://halder.com/jp/22110.0628
http://halder.com/jp/22110.0630
http://halder.com/jp/22110.0632
http://halder.com/jp/22110.0634
http://halder.com/jp/22110.0636
http://halder.com/jp/22110.0638
http://halder.com/jp/22110.0640
http://halder.com/jp/22110.0642
http://halder.com/jp/22110.0644
http://halder.com/jp/22110.0646
http://halder.com/jp/22110.0648
http://halder.com/jp/22110.0650
http://halder.com/jp/22110.0652
http://halder.com/jp/22110.0654
http://halder.com/jp/22110.0656
http://halder.com/jp/22110.0702
http://halder.com/jp/22110.0704
http://halder.com/jp/22110.0706
http://halder.com/jp/22110.0708
http://halder.com/jp/22110.0710
http://halder.com/jp/22110.0712
http://halder.com/jp/22110.0714
http://halder.com/jp/22110.0716
http://halder.com/jp/22110.0718
http://halder.com/jp/22110.0720
http://halder.com/jp/22110.0722
http://halder.com/jp/22110.0724
http://halder.com/jp/22110.0726
http://halder.com/jp/22110.0728
http://halder.com/jp/22110.0730
http://halder.com/jp/22110.0732
http://halder.com/jp/22110.0734
http://halder.com/jp/22110.0736
http://halder.com/jp/22110.0738
http://halder.com/jp/22110.0740
http://halder.com/jp/22110.0742
http://halder.com/jp/22110.0744
http://halder.com/jp/22110.0746
http://halder.com/jp/22110.0748
http://halder.com/jp/22110.0750
http://halder.com/jp/22110.0752
http://halder.com/jp/22110.0754
http://halder.com/jp/22110.0756

- AEEm
AFYIORTZ o v—RIL K

SR i

g ——
TRV

e E—..
AT TN}
—_—

SSS LSS &ﬂ
A

ESQAVTIATUA

FHOESERICOVTE., BENORRESEZBRL TKEEL,

NHALDER

H3/53
hi: 13.10.2023



